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| Semester 3 Year LL.B. Examination, December 2019
CONTRACT -1
(2018 and 2019 Batch)

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.

2. One essay type question and one problem or one short
note are compulsory from each Unit.

. Figures to the right indicate marks.

. Answers should be written either in English or Kannada
completely.
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Q. No. 1. a) Define acceptance and what is the effect of acceptance ? Marks : 10
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Define consideration and what are the essentials of a valid
consideration ?
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“A” has selected one book which is displayed in a departmental
store for the purpose of purchase. But manager of the departmental
store refused to sell the book. “A” has filed a suit against the
manager for the breach of contract . Decide. Marks : 6
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“A” has invited “B” for a dinner and “B” has accepted the invitation.
Subsequently “B” could not attend the dinner. “A” has filed a suit
against “B” to recover the dinner expenses. Can “A" recover the
dinner expenses ?
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Explain the provisions relating to capacity to contract. Marks : 10
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Explain the effect of mistake on the legality of contract.
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“A” and “B” entered an agreement before the marriage. In the
agreement they agreed to live separately after the marriage.
Is it a valid agreement ?
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“A” and “B" have entered an agreement. According to the
agreement “A” must pay 5,000 Rs. to “B” and “B” must settle
the marriage between “A” and “C” a lady. Whether agreement
is enforceable ?
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